SketchEngine Workshop on Wordlists and Concordances
Prof. Fiona Farr, UL

Note 1: If you haven’t had a previous introduction to corpus linguistics or SketchEngine, it is
advisable that you watch this recorded session before attempting the tasks below:
https://media.heanet.ie/page/e83bcal503294580a716dab4c310fc7e

Note 2: In order to complete the tasks below you need to have access to SketchEngine.eu
through the institution to which you are affiliated. You can check if your institution has a
licence by clicking on the log-in button at SketchEngine.eu, going to institutional log-in,
searching for your institution, clicking on it and signing in with your regular institution
credentials.

Note 3: The SketchEngine Platform is well supported through integrated video links (click the
‘about’ tab in the various functions) and through the SketchEngine Channel on YouTube:
https://www.youtube.com/channel/UCo02fn2_SNxCikCSAFCBcWBw

Wordlists

Watch this Video: https://www.youtube.com/watch?v=ngpCIlICCEdw&feature=emb logo

1. Using the TedTalks corpus, run a wordlist for all the words (not lemmas — what is the
difference?)
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What are the top 5 most frequent words?

Is there a limit on the number of words returned in a frequency list in SketchEngine? The
answer is on the screen.


https://media.heanet.ie/page/e83bca1503294580a716dab4c310fc7e
https://www.youtube.com/channel/UCo2fn2_SNxCikCSAFCBcWBw
https://www.youtube.com/watch?v=nqpCIICCEdw&feature=emb_logo

2. From here, run a concordance for the word ‘this’ by clicking on the three dots next to it
on the frequency list.
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3. What are the top 5 nouns in the corpus?
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4. Download the noun frequency list to an Excel file and rearrange alphabetically in Excel.
What is the first and the last noun on the list?
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What interference do you find in the results?
Try this (full list of tags is here: https://www.sketchengine.eu/penn-treebank-tagset/):
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https://www.sketchengine.eu/penn-treebank-tagset/

What did you get?

After you press ‘go’ in the previous, run a concordance from the next screen (three dots
next to the frequency number):
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Do you get what you want? How do you find the most frequent verb from here? Try
this:
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Did you find exactly what you were looking for? If not, what can you now do manually
to get exactly what you are looking for?



Concordances

Watch this Video: https://www.youtube.com/watch?v=FzI6tbhO5EvQ&feature=emb logo

1. Using the BAWE corpus, search for the work ‘academic’. How many hits did you get?
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2. Which word occurs most frequently one place to the right of ‘academic’? Try this:
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What results did you get? Can you find which is most frequent (manually) from here?

3. Here’s another way to do it more automatically using the collocation function:


https://www.youtube.com/watch?v=FzI6tbO5EvQ&feature=emb_logo

simple acadenic « 679

BASIC

Atribute 7
word

[ Details

Critique
Narrative recou
Research report
Research report
Research report
Research report
Research report
Research report
Research report
Research report
Research report

Research report

OooO0O0O0O0O0O0O0O0oOoaQ

Research report

CONCORDANCE

51.45 per millon tokens = 0.0081% @)

ADVANCED

British Academic Written English Corpus (BAWE)

= COLLOCATIONS

ABOUT

Range ”

5 4 3 2 K we

Left context
arp criticism it sparked upon publication. </s=<s= | shall therefore occasionally refer to critics or related
itairs, in the middle of the shop. </s=<s> A smalll staircase leads to a first floor, where a small room with
sral population. </s=<s= One hundred undergraduates were asked about the way they cope with a high
wrch could investigate whether high levels of alcohol consumption avoidance coping significantly impact
en avoidance coping and alcohol consumption with respect to how university students cope with a high
problem solving are excluded, it may lead to maladaptive functioning in important life domains such as
3> Furthermore, our study differs from many others in the fact that we focus purely on one area - that of
3 indicating that excessive alcohol consumption may be detrimental to the attitudes of students towards
with each statement as an action they typically undertake in a situation when they are faced with a high
n completion of the consent form, participants were asked to think back to a time when they had a high
lem-focused coping strategies. </s=><s> The results therefore imply that, when considered in relation to
1t it holds even when all participants were asked to consider the same specific situation, that of a heavy

juestions regarding the possible detrimental effect that a heavily avoidant coping strategy may have on

KWIC
academic
academic
academic
academic
academic
academic
academic
academic
academic
academic
academic
academic

academic

o @ B 2

a 2 @& x = = 8 + ® %
X

1o}

Right context
work. </s=<s> The book sets out in an ambitious fone. </s><s> In its introductory note, the authors forel
literature and a big room with novels and poetry can be found. </s><s=> | decided to stay upstairs for aw
workload. </s><s= Alcohol consumption was found to correlate positively with avoidance coping and ne
achievement. </s> Introduction <s>= When confronted by a stressful situation, an individual may react in
workload. </s><s= It is widely acknowledged that university students represent a group of individuals wi
achievement (Windle &amp; Windle, 1996). </s><s> A positive carrelation between levels of avoidance
workload - when the vast majority of coping studies ask participants to specify a particular event of their
work. </s$=<s= In our study participants were provided with questionnaires comprising two sections. </s:
workload. </s><s> The second section of the questionnaire consisted of the standard, 10-item Alcohol L
workload and think about the feelings they may have and actions they may take in such a situation. </s:
workload in particular, a higher level of alcohol consumption is associated with a tendency to exhibit mo
workload. </s><s> This suggests that the relationship observed may be stable across many stressful sit

achievement. </s><s> While we did not investigate this in our study, it may have been interesting to ask

What do you get? The results appear alphabetically by default. To rearrange the words by
frequency, click on the column heading that says ‘cooccurences’:
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4. Try to find the top 5 regular past tense verbs through the concordance function, using a
basic search for *ed. What are the issues with the results?

5. To resolve some of these issues, let’s rerun the concordance with some more specific
criteria (filters) from the advanced tab. Try this to tell SE to include only examples of
*ed which has pronouns one place to the left of it:



(2]

Co NCO RDAN C E British Academic Written English Carpus (BAWE)

BASIC ADVANCED
| H Simple e
- Query type @ *ed
— simple
@ lemma
phrase
Q
(o] word
o= character
caL
E=
Subcorpus (2
none (the whole corpus) ~

_none (the whole corpus) ~ +
Filter context @ ~ «

Do not filter
Lemma context
Part-of-speech context

eCO

Only keep lines with

all L, of L[ adecve within 4 - Tokens «
- [] adverb -

./ pronoun «

[] conjunction

Text types 7 v

6. The results you get from 5 above, will appear randomly. You can rearrange them
alphabetically by clicking on the arrow next to the KWIC column heading, and to the
left and right by using the sort function as above. To get a list of which of the past tense
verbs is most frequent, click on the ‘frequency’ tab and go:
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Does this give you what you need? Is there any interference in the results that you get?



